Electron Configuration Assessment Questions

1. Which of the following diagrams correctly shows the electron configuration of Sulfur, with atomic number 16?
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2. What is the maximum number of electrons that can occupy the 3rd electron shell? 
A.  2
B.  6

C.  10

D. 18

3. Which element in row 6 of the periodic table (shown below) has the largest radius?
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A.  Cs
B.  Os

C.  Hg

D.  Rn

4. Which element in the 8th column of the periodic table (shown below) has the largest radius?
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5. Which sublevel is filled after the 5s sublevel?
A.  4p

B.  4d

C.  5p

D.  5d 
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